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QUESTION 1

What is the primary extension construct of a profile?
A. a metaclass

B. a constraint

C. a stereotype

D. a tag definition

Correct Answer: C

QUESTION 2

Instances of the CommunicationPath class connect instances of which classes in a deployment diagram?
A. two Nodes

B. Node and Signal

C. Node and Property

D. DeploymentTarget and DeployedArtifact

E. InstanceSpecification and DeploymentSpecification

Correct Answer: A

QUESTION 3

Assume !p denotes sending of p, ?p the reception of p. In the exhibit, what traces are valid? (Choose three)
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Correct Answer: ABE

QUESTION 4

What is implied when a transition terminates on the outer border of a composite state that has an initial and a history
pseudostate?

A. The state is not entered.

B. The outgoing transition from the final pseudostate is taken.
C. The outgoing transition from the initial pseudostate is taken.
D. The outgoing transition from the history pseudostate is taken.

Correct Answer: C

QUESTION 5
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What objects receive a signal sent by a BroadcastSignalAction?

A. all objects

B. objects are determined by semantic variation

C. all objects that have a reception for the signal

D. objects that are on the same node as the actions

E. objects that are instantiated from classes in the package of the action

Correct Answer: B
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